THIEEBERAITSFFARAFERIR
[2HETHHEEERDERAEAR

UERERE FraREGEE N BNGER
¥R ¥R AR B | s N\ B | FREBE LS fEEwH
(ALLPY) (ALLPY) (ALIN)
: o - -G SVAN NIV NV 5
W R L | 280 28 16 LR ;
BrT=2 5
o\ 240 30 4 | &L —FR— 7
BT EHEK 4
W™ Jis S B 30 — — — —
BrIF== 5
& 3 270 30 4 | & L —FR— 7
5 EER 4
A o] 240 21 14 |H&c N> RR—L 7
W Jt PR 30 — — — —
& it 270 21 14 [ o FR—L 7
LA 240 14 14 - —
& [EI B e 5E 40 — — — —
o i 280 14 14 — —
BF v RAR—L 7
e . B h— 11
i pGil 260 39 15 7R | )
L TAR— b 3
(Y TiAvA B 40 — — — —
BF N RAR—)L
A = SR o i) — 11
= i 300 39 15 R | .
ZHh—k 3
AEEE N 20
T 20 BTTA 7L 3
e B 25 20 14 (&1 74 7 Vi 3
A | TZVEVRA 25
- woA 75
A = BYT 14 7 N5 3
= 109 20 kt51 7 3
G| HIBEAEHR 30 — — — —
R 60
FEAR L T2 65 [ EAY T Ry 9
BT 55 54 s |BFV=A NV TT 400 3
TR TS 70 BT —F =V — 3
G L A WECERL A 10 LFT—F =V — 3
A 20
BYry T R pA—1 9
A = BroxA NV T7T 4T 3
= i 280 54 36 Hrr o s
R T T ) 3
bV AR 60 BFANRFI b 5
v YR A AE 190 10 %2 i%éﬂé !
1 : - - T =R 5
el B ANRIY ho 5
& &t 250 46 32 |41 BBk 4
LAT=A 5
N O E 180 13 MR RIS 3
il ES 60
' W 70 20 oo |BFETFHE 4
SAN AETE AL 20 L2 4
. 5 4k 30
# — R R ES 1
AN = FTZ4EFE
5 a : 180 30 22 A A
Wi AR 20 1 8 BF-T A 7V 3
it e il S Ak 15 BATA T IVEEE 3
N 35 14 g |FF7AT7NHE 3
LT A 7V 2




I (0 55 P R PR E N B R
E-IN 'Y E I SHEER | 3 A\ B | fREBE LS FeE R
ALY (ALIPY) (AZIY)
A b 150 18 4 | FRNAry hAR—L 5
5 PN i % 35 4 | TRhE 5
] A = 185 18 8 LA RAT v hR—L 5
R -l T 5
DAl & i 40 — — — —
3 & 155 12 9 |&THiikk 3
= Mo il 3 40 — — — —
& &t 195 12 9 |z 1A 3
ko R > b AT A 35
EXERY AT A 30
CRCIETE T T e N 25 29 21 (FHFa o= 8
PEZEAIE 75
o &t 165 29 21 |BHA v r— 8
o m 50 18 12 BAhR— 3
o om Ve 20 BT X — 3
/ & & 70 18 1o [PEAX= .
AT X — 3
i 60 oo e el
o g[g ‘f%i&l:‘*‘/“%x 20 17 12 | B2y hiR—)L 5
SRR 30 — — — —
& & 110 17 12 |BF Ry Y hAR—L 5
3 - e A5 7
e 4 i bE 280 29 16 R 6
AR—Y RS 60 60 60 - -
s S 1t i 5 135 17 17
& 195 77 77 — —
< W s L Sl | 3
Ui gy it b1 135 14 8 P )
i b 50 11 8 |5 T-FEEE 3
. T 15 15 15
4 W A ES) 20 20 20 — —
St 10 10 10
o &t 95 56 53 |58 TAHEE 3
RERT 20
EWTE R 15
E—.ll %%E?*x 20 14 14 — —
BFHE TR A 25
BEI XA 30
o i 110 14 14 — —
JI| = O E 125 8 8 — —
i3] bid i i 155 14 9 | BTl 5
Fil 3 7 L 55 8 8 — —
X N i i 55 15 N EE YY) 7
i i) Al & 165 14 8 |kt v7hrFr=x 6
= = 45
i i 45 BYs57v—7y hR—L 12
R 20 41 16 | BV 7 hF=x 6
P ES 25 B i 7
S Hitsk 2 3% A 20
BYS 7 —7 v hAR—L 12
a g 155 41 16 [BF+Y7 rF=2 6
B b BB 7
22| ~ a
S | 130 22 12 z;i;gg; ;
. AHL w5 35 — — — —
& & 3 165 22 g |PEVRAY 7 g
LAV AV T 3
M an w & 50 17 8 |+ 7 riR—L 9
BERE 20 - - - -
=47 BREL AR 15
= i 35 — — — —
B 5, 060 732 502 230




